NP > o= — = %E
2. BENRARABEHRINFNFED=H D EFEERE
$E§25¢f§(2013¢f§) $E§26¢f§(2014fﬁf§) $E§27¢f§(2015¢f§)
SR R = B S0135E | BEE O35S
% |5t (B) COHHLE %255 | 58 (B) Sog e mtuéﬂ; % |5t (B) Sog e mtuéﬂ;
Vi =1 C=AXB VaEs =1 N=AXB == = Vs o N=AXB ==% =
A A N/ C A N/ C
B (kwh) 0.656 | 3,803,815 2,495,303]0.706 | 3,675,313 2,594,771 3.99%] 0.688 | 3,553,050| 2,444,498 N2.04%
#mAHRX (m] 2.29 61,550 140,950 2.29 56,179 128,650 N8.73%] 2.29 45,370 103,897 A26.29%
jj
A
LPAX (kg 3.00 5,537 16,611] 3.00 4,877 14,630 2A11.93%] 3.00 5,635 16,906 1.78%
FFxE (m?3) 0.36 50,387 18,139] 0.36 52,668 18,960 4.53%]| 0.36 40,025 14,409] A20.56%
VY>> (L] 2.32 2,881 6,684] 2.32 2,679 6,214 AN7.04%]| 2.32 2,503 5,806] A13.14%
al .
. T (L) 2.49 1,436 3,576] 2.49 1,326 3,302 AN7.66%] 2.49 1,125 2,801 A21.66%
#2m (L) 2.58 2,042 5,269] 2.58 2,232 5,759 9.30%] 2.58 1,812 4,675] A11.28%
z — 2,686,532 — 2,772,287 3.19% — 2,592,993 N3.48%




NP > o= — = %E
2. BENRARABEHRINFNFED=H D EFEERE
TR 25 E (2013FE) TR 28FE (2016FE) FRE29FE (20174 E)
SR R = B S0135E | BEE O35S
% |5t (B) COHHLE %255 | 58 (B) Sog e mtuéﬂ; % |5t (B) Sog e mtuéﬂ;
Vi =1 C=AXB VaEs =1 N=AXB == = Vs o N=AXB ==% =
A A N/ C A N/ C
EBEX (kwWh) 0.656 | 3,803,815| 2,495,303]0.669 | 3,619,572 2,421,494 N2.96%]|0.529 | 3,562,393| 1,884,506] A24.48%
#mAHRX (m] 2.29 61,550 140,950 2.29 57,821 132,410 A6.06%] 2.29 59,103 135,346 AN3.98%
jj
A
LPAX (kg 3.00 5,537 16,611] 3.00 5,871 17,612 6.03%] 3.00 6,675 20,025 20.56%
EFkE (m3) 0.36 50,387 18,139] 0.36 37,341 13,443 A25.89%] 0.36 40,348 14,525] A19.92%
VY>> (L] 2.32 2,881 6,684] 2.32 2,903 6,735 0.76%] 2.32 2,569 5,960] A10.83%
al .
. T (L) 2.49 1,436 3,576] 2.49 1,231 3,065] A14.28%| 2.49 597 1,487] A58.43%
#2m (L) 2.58 2,042 5,269] 2.58 2,169 5,596 6.20%] 2.58 1,896 4,892 AN7.16%
= — 2,686,532 — 2,600,355 N3.21% — 2,066,741 A23.07%




NP > o= — = %E
2. BENRARABEHRINFNFED=H D EFEERE
$E§25¢f§(2013¢f§) $E§30¢f§(2018fﬁf§) %%DT_EEE(ZOBEE)
SR R = B SoEE | BiE SO3EE
% |5t (B) COHHLE %255 | 58 (B) Sog e mtuéﬂ; % |t (B) Sog e mtuéﬂ;
Vi =1 C=AXB VaEs =1 N=AXB == = Vs o N=AXB ==% =
A A N/ C A N/ C
EBEX (kwWh) 0.656 | 3,803,815| 2,495,303|0.535 | 3,263,215( 1,745,820] A30.04%] 0.528 | 3,065,746| 1,618,714] A35.13%
#mAHRX (m] 2.29 61,550 140,950 2.29 58,981 135,066 AN4.17% 2.29 51,882 118,810 A15.71%
jj
A
LPAX (kg 3.00 5,537 16,611] 3.00 5,941 17,822 7.29% 3.00 5,260 15,779 A5.01%
ETFkE (m?3) 0.36 50,387 18,139] 0.36 42,750 15,390] A15.16% 0.36 37,456 13,484 A 25.66%
VY>> (L] 2.32 2,881 6,684] 2.32 2,134 4,951] A25.93% 2.32 2,256 5,234] A21.70%
al .
- T (L) 2.49 1,436 3,576] 2.49 757 1,885] A47.28% 2.49 548 1,365] A61.84%
#2m (L) 2.58 2,042 5,269] 2.58 1,736 4,479] A15.00% 2.58 1,548 3,994 A24.20%
z — 2,686,532 — 1,925,413] A28.33% — 1,777,379] A 33.84%




NP > o= — = %E
2. BEMNRAABBINFIF D=6 DEHEERE
FRk 254 (20134 ) SH2ERE (20206 %) SHBEE(20214FE)
SR R = B SoEE | BiE SOEE
% |5t (B) COHHLE %25 |5t (B) Sog e mtuéﬂ; % |t (B) Sog e mtuéﬂ;
Vi =1 C:AXB 7N =1 N=AXB ==3 == 71N =1 N=AXB ==3 ==
A A N/ C A N/ C
EBEX (kwWh) 0.656 | 3,803,815| 2,495,303] 0.411 | 2,846,995| 1,170,115] A53.11%| 0.574 | 2,823,712 1,620,811] A35.05%
#mAHRX (m] 2.29 61,550 140,950 2.29 73,431 168,157 19.30% 2.29 69,985 160,266 13.70%
jj
A
LPAX (kg 3.00 5,537 16,611 3.00 3,350 10,050] A39.50% 3.00 3,717 11,151] A32.87%
FFxE (m?3) 0.36 50,387 18,139 0.36 32,394 11,662 A35.71% 0.36 31,063 11,183] A38.35%
VY>> (L] 2.32 2,881 6,684 2.32 1,309 3,037 A54.57% 2.32 1,650 3,828] A42.73%
al .
. T (L) 2.49 1,436 3,576 2.49 717 1,785] A50.07% 2.49 495 1,233] A65.53%
#2m (L) 2.58 2,042 5,269 2.58 1,450 3,741] 2A29.00% 2.58 1,300 3,354] A36.35%
z — 2,686,532 — 1,368,547] £249.06% — 1,811,825] A32.56%
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2. BRENREARAPFHIMFNFD-HDEIEELE
$E§25$E(2013ﬂ5r§) ’%ﬂ]4ﬂ5r§_(2022$g)
SR R = B SOEE
% [t (B) COHHLE % | (B) Sog e mtuéﬂ;
TR c=AaxB| 7 : N=AxB =
A A N/ C
EBEX (kwWh) 0.656 | 3,803,815| 2,495,303] 0.532 | 2,804,159| 1,491,813] A40.22%
#mAHRX (m] 2.29 61,550 140,950 2.29 74,123 169,742 20.43%
5
A
LPAX (kg 3.00 5,537 16,611 3.00 4,385 13,155] A20.81%
EFkE (m3) 0.36 50,387 18,139 0.36 29,084 10,470 242.28%
VY>> (L] 2.32 2,881 6,684 2.32 1,757 4,076] A39.02%
al .
S T (L) 2.49 1,436 3,576 2.49 657 1,636] A54.25%
#25m (L) 2.58 2,042 5,269 2.58 1,517 3,914] A25.72%
z — 2,686,532 — 1,694,806] A36.91%




